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‘ RMS CET EXAM CLASS-V|

English

Read the passage given below carefully and answer the questions given below -
Bachendri’s story stands as an example of how poing against your family’s wishes can

be hard but important from time to time Raised surrounded by the Hnn:;!;:‘,w; s towering
around her hometown, she intended to climb 1t one day, and focused on h@xfﬂxﬂu a
Professmnnl mountain climber. Moreover. she received a lot of discouragement for being
a girl trying to take on such a physically challenging path. This only fueled her passion:
she was selected to be part of an expedition to the top of Mt. Everest. She braved being

buried in snow, fierce icy winds and even losing sensation in her toes. She was one of the

few who finally made it to the top creating history in being the first Indian woman to
reach the summit.

1. Which mountains surrounded Bachendri’s hometown?

& The Himalayas b. The Alps
¢. The Mountains d. Mt. Everest
2. What did she want to become on growing up?
a. Doctor ¥~ An athlete
c. Engineer / Professional mountain climber
3. Why did she receive a lot of discouragement?
/Because she was a girl b. Because she was weak
c. Because she was incapable d. Be cause her family did
notsupport

4. What was the reaction of Bachendri’s family regarding her choice of career?
a. They were happy b. They supported her
¢. Her family was not happy fNonc of these

5. What was the childhood dream of Bachendri?
a. To become an athlete 7" To climb the mountains one day

¢. To become a coach d. To become a teacher

6. Madhu is worried the test because she thinks that she will fail the test.
a. of b. to

v/ about d. on

Fill in the blank with suitable word.
He has knowledge of the language.
b. many

a. lot
_A little d. few
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10.

16.

17

ace the W

{PULSORY essay question.

ch can repl

ludes COM
b. affable

d. not attempted

Direction : Choose the option \‘Vl‘ll‘
the following sentences. The test inc
;]. x‘\\rk‘L\ki

optional
¢ options given below.

correct pronouns from th

Dircction: Fill in the blanks with

for their silly mistake.

They were angry with ‘
X themselves
a. ourself ‘
d. yourself

c. itself ,
- gy of 'ADVICE'.
Direction: Pick out the nearest correct meaning or synonym
a. Council 7 Counsel
c. Practice d. Proposal
from Meerut recently.

ord in BLOCK LETTERS in

IVIS ISISTET: < ks dnikwsa skAA
a. Cross b. crossed
A had crossed d. have crossed
|
(DO YOUSEE hvsstissiins blue sky?
a. a b. no article
G an & the
Fill in the blanks with suitable choice. :
The class was not held as .......... students were present.
a. afew b. any
few d. alittle
A synonym for vowed :
7/ promised b. lied
c. stated d. steered
A synonym for satisfaction . ; 1
a. rap vb./comentment
c  ipenil d. accuse
A synonym for courageous 5 l
a. Scary %Brave
c. Happy d. Delicious
Direction: Fill in the blanks with correct Adjectives: There is water in the l
bottle.
v’a/ some b. few
c. large d. small




18. Direction : Choose the option which can repla

in the following sentences. Please FORGIVE me LOCK LETTER
J_/purdon b. justify
c. convict d. blame
19. Have you seen ------ one rupee note?
/ihc b, a
¢. an d. None of these
D01 Feseeimmiziaiin can also be called exclamatory sentences

a. exclamations ~ commands

¢. statements d. questions

21. Direction : Choose the option which can replace the word in BLOCK LETTERS

in the following sentences. The thief will CONFESS his guilt soon

a. deny b. refuse
admit d. none

22. Direction : Choose the option which can replace the word in BLOCK LETTERS
in the following sentences. They will surely IGNORE you.

a. remember b. overlook
%<l notice d. indicate
pRilihespeaker willibefcomings -t oo v car.
by b. from
G N d. over

)

24.  Fill in the blank with suitable word/ phrase.
Please be quiet, |

&~ am working b. was working
¢. have worked d. had worked
25. India -------- everyone to do his /her duty.
& expects b. excerpts
c. accept d. expert

26. Direction : Rearrange the following words/phrases to make a meaningful
sentence by choosing the correct sequence. at (A)/were not (B)/ school (C),
they (D)/ yesterday (E)/

a. CBDEA " DBACE
¢. BACED d. DECAB
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[ ive > *SS101. /\ bUll( n for
)l ~ i() R } yose the .‘”l‘[ilbl > one for the given exjf es

storing threshed grain

b. dockyard
a. hangar

N \/ granary
c. store

|
28. A synonym for decide is

a. sett] b. choose
- : 4 e
¢. determine A all of the above
. - k‘ >
]
29. The kid is learning to play ----- violin.
S J./[hc
Seaivi d. None of these
1 3 3 . already done the exercise. 1
30. Change the narration for following sentence:- We have already

A APRIOB aQ - >l ecll
a. Already, the exercise has been vh./Tht‘ exercise has already b

done by us. done by us.
Que _ . g g qs b
€. The exercise had been already d. The exercise is already do y
done by us. us.
31. Direction : choose the correct options to fill the following.They were angry 1
with_ for their silly mistakes.

a. him

b. their
c. ourself

. themselves
32. Choose the correct preposition:

I will meet him
on
C. to

33. Direction : Rearrange the following words/phrases to make a meaningful

sentence by choosing the correct sequence. ship (A) /violently (B)/ the (C)/
the storm(D)/ rocked (E)

........... Saturday afternoon.
b. with
d. into

a. CDBAE b. ACBDE
c. CABDE A" DECAB

34.Direction : Rearrange the following words/phrases to make a meaningful sentence
by choosing the correct sequence. for tigers (A) /a natural (B)/

itis (C) /home (D)/
protected (E)/
& CBEDA b. ADEBC
c. CABDE d. EDBAC
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35. Direction : Fill in the bl

36. Direction : Choose the word w
LETTERS in the following ser
rough

refined

37.

39.

40.

41.

43,

dead by the cop.
a. shoots
c. has shot

a.

C.

are sometimes called decl

va./slalcmcnts

C.

C.

A synonym for delectable

. The mother
a.

commands

is cooking
has cooked

a. Confusing

< Delicious

The classes will be held
a. over

C. In

.... food for

Find the correctly spelt word.
a. horouscope
” horoscope

Direction: Rearrange the words/ phrases to make meaningful sentence:of India (A) /

anks with the correct options. The terrorigt

b. shot

1. was shot

b. coarse
A rude
arative sentences.

b. questions

d. requests

us everyday.

Xcooks

d. cook

ab; Angry
d. Smelly

7 on
d. at

b. houroscope
d. horoskope

modern man (B) / called the first (C) / he is rightly (D)
& DCBA
c. ABDC

b. BDCA
d. ABCD

Find the correctly matched "Idiom" :
. as nimble as quirrel
¢. as innocent as baby

b. as cold as snow
d. as easy as needle

Direction: Fill in the blanks with correct article:

He can fly

a. a

C.

the

aeroplane.

b an

d. no article

hich is opposite in meaning to the word in B0 'K
itence. She is known for her P )LITE nature.

]

1
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45.

46.

47.

48.

49,

h

n
(9]

n
(U]

R

Direction : Rearrange the following \\'ordsmhruscs‘m make a mcuﬁmx:g}tu{l} \:\I,]}CPCIC)

by choosing the correct sequence. called (A) /rose 1S (B)/ the queen( owers (D)
of (E)

a. CBDEA

~ BACED

b. ACBDE
d. DECAB

My friend his purse last night.
a. loses b. lose

/ lost d. is losing

Mr. Chatterjee wants to be MLA. I
a. a vh./an

c. the d. No article

the coconut trees.

a. over b. on

C. In &~ under

Choose the correct spelling:

The treasure is buried...............

a. appresiation vh./'upprccintion
C. appreciason d. apreciation

Find the correrct Gender of "Marquis" |
a. marquis b. marquises

/ marchioness d. none of these
General Knowledge
- TG fhw s A Ryg 2/ Dibrugarh is located in which state? l
3HET/ Assam b. RIS/ Nagaland
c. SBUTTT YT/ d. IR®/ Mizoram
Arunanchal Pradesh
. 1 2fd &1 wefi 82/ What colour symboljses peace? l

a. 7dIsl/ Pink «(;{RTﬂ/ Orange
¢. 3/ Brown A7 Fha/ White

100 Hiex g8 & a1 fay Repts S dTd g8 dliee fbg 391 & ARe &, 1

Husain Bolt who created a new world record in 100 metres race is a citizen of
a. gugu/ USA b. &1 3BIHT/ South Africa
c. =9/ Russia \,d./a%/ Jamaika

TASRSMS- &1 37f31df §:-/ NRI — Means: 1
a. =11 &g |/ s YRt/

New Regional Instrument Non Resident Indians

c. R &g yrd/ d. 3T YA None Of These

Non Regional Indians




N
N

eq \;{‘-f;, sfear RUa 82 Gateway of India is located at? m
) A 5 (PO o
a. esadlq/ Hyderabad /;.:» Mt 1
o o CE Viumba
c. SIg®/ Bengaluru d. 3R Ao :
56. AIEHINIGE & WRITD HH 82/ Who is the founder of Microsoft?
a. WA old/ Steve Job b. 9T/ Satyan :

'//"Taﬂﬂw Bill Gates d. e/ Donald

DI Iﬂ’:”h‘l GEIE } ﬁj;{“.{ ” HETSdT B I'he science of draw ing map is alled

1 HTCTUTE Cartography b. WM/ Geogn iphy
o C\'\”(‘ﬁ\‘? ‘]‘(‘]‘(\]1“!'\ d. ?fT(l.:'W-‘ Creolopy
58. IR Pl 39 &l YT 8/ Where is the Gir National Park Situated |
a. U9rd/ Punjab b. sRamm/ Haryana
ﬁﬂ”ﬂ Gujrat d. H8WIY/ Maharashtra
c : ] o . X — Y W, y vy )
59. SR TP IYFE g T | fRug g Bandipur National Park is located in which state |
a. ToRTA/ Gujarat b. IS/ Rajasthan
¢c. I Ua¥/ Uttar Pradesh 7 Ffcd/ Karnataka
60. IR AT & o TSI Ug &1 917 qaigul/ I

Name the brightest planet in the Solar system.

a. 9=/ Neptune \,b/‘{la?/ Venus

c. §eWfd/ Jupiter d. @i/ Saturn
61. 3foidl & 47 H&fdd € / Ajanta Paintings are related to: I
a. S Y9/ Jainism b. §EIUEG/ Brahmanism
c. 3918 4T/ Christianism _,el/_;ﬁ&* ¢/ Buddhism
62. YRd 3! ggch Higan srddied siftratd o1 o I
Who was the first women IPS officer in India?
a. 39Sl Anna Chandi \WW ddY/ Kiran Bedi
¢. dIAT¥3/ Leila Seth d. d& 9f™r P.K . Thresia
63. gl ou # gt 8/ Earth rotates along  direction 1
a. 3t @ET\&TUT/ North to south b. Ud ¥ ufgH/ East to west
v/q@'q@@/ West to east d. zf&urd 3w/ South to North
64. YA 1 IS HH-T 82/ What is the capital city of India? 1

a. H¥s/ Mumbai b. @®®Idl Kolkata
J/fac—vﬁ/ Delhi d. ¥%%/ Chennai

65. g e B! 3R YIR FI I o1 A1l 87/ 1
Which city is called the Queen of Arabian Sea?

2. rgc¥/ Coimbatore b. deTg/ Tamil Nadu
/ ®1fed/ Kochi d. ¥93/ Chennai

CET 2023/CLASSVI
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¥ AR B & qgatd @

: N A g T A . o .
66. T3 foeeh 7 Ryarae 3093 F amaford Gi2o e d at New Delhi in september

g 120 summit
Who was the president of France during G2

2023? N7/ Emmanuel Macron
a. Wy glae/ Francois Hollande ‘/(S“)'t;m‘ ?1: j’f;{,, l
a. S 2 ) { b a3 C )
c. FA®lay gx@sfl Nicolas Sarkozy ¢ Francois Mitterrand

I)'l', n,‘;l‘-]]l,”,,ll; ]
‘ : srnational Yoga
67. RIvR gnr feay e mamr sirdl 82/ When is the Inter

5
b. "1‘ 22 _lll]]"-—t«

9+ -21/ Jun-21 d e .’1//\Pr’”

¢. H%-21/ May-21

afd/ Teeth
d. féd/ Heart

68. T[ifdae fyg o ) a2 9/ Cataract is the (|1‘i""“" ol
\/;73—‘7 Eves h'
C. oddl/ Skin
69. Ay 3 1) &1 g IS IUCPH QY HFH I8 ?

; . s world?
Which country is the largest producer of coffee in the

# SN/ Brazil b. gfuafaa Ethiopia
¢. ®Ra Colombia d. fagaam/ Vietnam

70. YRGH $1 998 99799 &5 g T A 29 ‘ 35
Which of the state has the largest area of forest cover in India’

a. 3fBUET Uy b. gRarn/ Haryana
Arunachal Pradesh
V/ 9 U3¥/ Madhya Pradesh d. 399/ Assam
71. WeH 3 59 IR & HA §| 22/ On which date mother’s day is celebrated?
~ 2nd Sunday of may/ b. 3rd Sunday of may/
2nd Sunday of may 3rd Sunday of may
C. 4th Sunday of may/ d. IstSunday of may/
4th Sunday of may Ist Sunday of may

72. PR 7 4 319 @ YR # sy v T8 2/ 1
Which of the following is NOT a scheduled language of India?
Ve 4R/ Mundari b. FYrel/ Santhali
c. §181/ Bodo d. SRV Dogri

73. TP Ug B MY farwes gR1 AuiRa B I wsd 2/ The age of a tree can be determined by |
a. 9| HaTs Ay b. $Hd Y HY AT/

Measuring its height Measuring its diameter
c. 3D TE P fazauy & 5 & ¥ e 3 ae )
Analyzing its sap U1 1/

Counting the annual growth
rings of its stem

CET 2023/CLASS-VI Page 10
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74,

1
o0

"VQ.

80.

g1.

- AnRfRd el A Q@ , .
yRa & PAafakad \h_\\ H Y &, MesH gqusl A8 Aead 1 g 78 8 SET
which among the following cities in India, is not | a4 |
‘ a, T P
Road Netw ork? ocated in Golden Quadrilateral
4 @rde1dl/ Kolkata
‘ b. Hag/ N
o, T Reell/ New Delhi e Tumbai
dsg/ Chandigarh
HIRA TSR BT YRAUTENA 8/ The head of the ¢
2 LIGRS 1/ Prime Minister 5 bl l’t I‘HH,N;HIIJ‘HI of India 1§ ~==-----
[ y \ w resident
. @ 9T e/ Speake
Cs d/ OPLAKCl 111 31611
d | Y fa Vice President
e el fddd \\‘H‘G &1 811 8 ¥/ How many seconds are there i | )
a ‘«(MU(\“\‘)‘\". 36000 secs b 1800 Hh 3/ 3 (y)(l”l i |
o 1800 I & bod ) SECS
C. 4200 Q’dx(l 4200 secs y‘\’( o fiex 4 200 (
d YUA 1O ) SecCs
—‘\' wtsxﬂ\’_‘Y, {:v\, y
ey SR &1 IUATH 182/ What 1s the nickname of Rabindranath Tagore” x
a. Hg™Al/ Mahamana W T5ea/ Gurud " ’
¢ ] (Y
¢. SeE WA/ Badshah Khan d. g7 A H1S 81/ None of these
=1 DX ey ;
T ¥ HeTed & |82/ Which is the largest continent?
a. 9/ Europe / i/ Asia
¢. IPT Africa d. I 3w/ North America
: 5 N bk | . : ]
Wﬁ?\{m@_ﬂ@ Sl 82/ PV Sindhu is associated with which sport? 1
¥~ 88T/ Badminton b. W/ Squash
. drdrEra/ Volleyball d. fede/ Cricket
m%aﬁam%wmﬁmﬁﬁﬁwqw%v x
What is the age of retirement of a Judge of the Supreme Court of India.
a. 62yrs/ 62yrs b. 68yrs/ 68YrS
c. 60yrs/ 60yrs J./(ﬁyrs/ 65yrs
TR ?ﬁ%?ﬁﬂf@ﬁ% 9/ Agra is situated on the bank of river? ‘1
a. §elg3/ Brahmaputra b. $wI/ Krishna
c. Teradl/ Godavari \_,d./wﬂ:!l/ Yamuna
SIGeD ... A 81/ Ringworm 18 a ... disease.
a. Siamy]Sfd / Bacterial b, TN AT / Protozoan
. gRd -d / Viral \)/Cﬁﬁﬁa 9fAd / Fungal
i 5 i 2 ftrg HHR ST N AHAE
What is the name of the famous tower in Paris, Frz‘mcc‘?
A Ut Ty Eiffel Tower b. fam s/ Big Ben
o ded ¥ e/ Tower of London 4. frHFHHAR
Leaning Tower of Pisa
Page



84. 'fay Sgwr fagw fy fg 9am ST e ¢ =
On w Imt date the '"World Population Dz “yI;LHL [ 1th July
1 U : v
a. 11 ¥/ 11th May rust
c. 113 11th April d. 12 3T/ 12th Augus
\\\1 ¥ J 4 d 2 ‘”Td q ur/ 1

85. fwfafad dwfel 4§ @ A9 gresn Ad DG
Who among the following Scientists got two Nobel prize
Peace?
| £54 i o 3 H. G. Khorana
a. 3odge g/ Albert Einstein b. Udl WIRTAT
wme Paul Berg

M@-}H Uit/ Linus Pauling d.

r 7 s S )ix *1Y -
86. TEGTer T b Wog F aeh o @ 2/ In which state Malyalam language 1s spoken
a. ®Aled/ Karnataka b. dftredrg/ Tamil Nadu
c. 3y Y=/ Andhra Pradesh \_ﬂ/d”‘ﬂ'f Kerala
87. A B el ¥ argrise B aR ara ufg Ul 1 e el e B |
Which of lhuu is not part of the five layers that form carth's atmosphere
a. §TgI IgHST/ Thermosphere b. &y #sa/ Troposphere
sfeHsd/ Exosphere ¥ B8 wha/ Hydrosphere
88. 1975 # TUIdHTA & GHY HRA & JPURA DI A7 1
Who was the president of India at the time of emergency in 1975 !
oid 8/ Zail Singh b. G R VV Giri
BESEH 3l 3gne/ d. e aard 2l
Fakhruddin Ali Ahmed Shankar Dayal Sharma
89. SRIIS $T 37809+ HEA 8-/ Study of the universe is known as- I
a. TQuIdTSh/ Pathology selrs fag1/ Cosmology
c. uefifawmy Ornithology d. ?ﬁﬁﬂ? Geology

90. YRd & HiTuH &1 fIuR Gad usd pud gy fagr mar o o/

who was the first person to give the idea of the constitution of India

a. HgTH it/ Mahatama Gandhi b. SIdl AR fHSHI/
Dr BR Ambedkar

C. SIATER ofTe 8%/ A" THEA TG/ MN Roy

Jawaharlal Nehru

9]. T TXWEd ufalad & ¥ o 3 fwe & gwigs U0/

Dayanand Saraswati was the founder of which of the following missions?

\/WW Arya Samaj b. WHI ¥/ Prarthana Samayj
. del §41§/ Brahmo Samayj d. v ey Chinmaya Mission

CET 2023/CLASS-VI




93.

04.

95.

96.

7.

UB.

99.

100.

& YR Sfafver wredap o TS 1T v &
’ 1S considered a tather of Indian na Py i
a. AWF/C V Raman | Ve e
c. HSGABEH/ Abdul Kalam A Frmn e g 1O J Bhabha
t) ! IKram Sarabha
qAICN W\fll-l}l-:‘ﬂi H R &) By =7 3
By which name the main branch of r G |
a. WAV Jamuna / 131/ Pad s
C Y] \h'; hana | piferd)/ K
e Kk S FHN A sgr ar g What does Vitami, K ot
a. grEd ® wuan \/,, NETErS B Trrrers 2
Problem 1n ‘||>!'\‘\11“H Probles y !v:‘,‘,“.."u ( ’
c. HICRIYT TagTg 1 1 e d v 4 . 'l" : ‘l oagula
Problem in Calcium Metabolism N
fy &1 Fe9 ST HERITR S AR - Which is the largest ocean in the weeldn
a. 3fTdifed HIHIR b. g meramm, i.m”\,f Oc v.v“
Atlantic Ocean .
\/Q‘lﬁ? HETHTTR/ Pacific Ocean d. HHReF werammy Arctic Ocean

gegdre H A iR bfer R 2.

The Lingaraja Temple built during the medieval period is located at:-

/{cﬁ%ﬁ Bhubaneswar b. W8 Khajuraho
c. AgY¥ Madurai d. AT 31g/ Mount Abuy

ﬁ%aﬁma@ FW@?W%.’/ Which is the largest civilization in the world?
a. "H /A China Civilization \WQU@HWW
Indus valley civilization
c. HAMUICIRRT Jara/ d. g @) gy Egypt civilization
Mesopotamian civilization
3T 1 §a9 TS A BT A FA9/ Name the largest river in the world?
a. A1d/ Nile 7 3HTF/ Amazon

¢. Gt/ Yellow River d. S@YF/ Brahmaputra

3faRve # 9 arel ggdt AIHg Y __was the first human to go to Space.

a. §91TfEH/ Buzz Aldrin \/1{3 TRA/ Yuri Gagarin
¢. e 3T/ Neil Armstrong d. IRIad H A FIS 7Y

None of the above
a1 1 was e il 8/ The deepest lake in the world is
a. geik @&/ Wular Lake b. P URWR/ Lake Superior
. fageifear fammy ik S 9/ Baikal Lake

Victoria Nyanza



10].

102

103.

104.

105.

106.

107.

Intelligence

A s a7 PTG run |
" € fast B 4l 4
3 N £ - Yy 4 Y~’»{7k come back tas

foreft Qi faas wrar 3 389 T 31 run very fast @, 964 L

: ¥ U S99 H1e g7 y
& [cfU | & Al v fast 064 means come
380 means run very Tdst,

{e will work

b Y

\l:l(! come f) ‘i~ come }‘;lk‘.l.‘ tv‘l\t k\';
In a certain code language, for come?

— 3 % ( .
487 means run and come, then which ¢oc¢

\/‘ i

s S N AT
a. | \/R

sl 10)

& ) ufgys a1 g

16y
en what will West

111G

If North-East becomes West and South-East |

I9R-Ud Uiy &9 o1dr & 3R aférun IM 3R & 9

secomes North th

becomes? )
cf&ur-gd/ South-East b. ItR-gd/ North-East
c. cféo South d. 3 Qfé]n/ N()[‘(}]-\NCS(
A H e 3R ST Udr T, CMM, E0O, GQQ, , KUU/
Find the missing letters in the series, CMM, EOO, GQQ,
o}, (G

Ass d. ITT
AR GIVE B e U1 H 5137 @] oTaT & 3R BAT &1 e HTH1 H 924 e Sl 8. Al 'GATE’
H B for@r srom

" y s - - - . SN, = i P > aQ P | < M ’
GIVE’ is written as 5137 in a code language & 'BAT’ 1s written as 924 in a code

, KUU

language, then how 'GATE" will be written?
a. 5427 b. 5724

S 5247 d. 2547
ofe [ &1 ¢ foRaT ST 8, A BALE ) fbg w0y # feran S ¢
If 'Meat' 1s written as 'TEAM!', then 'BALE' is written as

a. ELAB b. EABL
c. EBLA A7 EALB

ud &1 3R 48 $X 31U 301 a1 3R G5 & 3R 10 7T et 3; fopR 370+f) a7 3R 73 SR 10
TS Tt 3R 3 37T 3T 272 3R 45 37l g € 3R T 25 T Y HaR HA & AW 91 5
319, 317 U URYe fog § forw fa=m & 8/
While facing East you turn your left and walk 10 yards; then turn to your left and
walk 10 yards: and now you turn 45 degrees towards your right and go straight to
cover 25 yards. Now, in which direction are you from your starting point ?

z 3TR-d/ North-East b. afamrufEm/ South-West

¢.. gd/ East d. ITRUEH/ North-West

I

1

109.
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108.

1R

110.

114,

116.

4, 8,12, 16, ?, 24
dt 10 \/’N‘”

c. 30 40

et fep e RITT W YehAR ! g1 I udl el fob a8 Fad A d 3 37 ugd snmar 2 oy

gg IR &I ggadr dl 98 faa 29 uga o1 &g ug=aan

Anil reached at a place on Friday. He came to know that he had
If he reached on Sunday, then how he could be late or earlier?

earlier,
\//‘I f& ugd / before | day b. 1fga s/ after | day

c. 21qddIq/ after 2 days 2 f&1 U8/ before 2 days

152154 SO

a. 36
49 d. 64
EAR Pl 56784 F U o

s Aty amer O .
U [H1Yd HINT H O1

)
SPARE &1 90847 & =0 H $4 HIfed fbur oar & a)

Fo o= Y

Y| U]« 3

R &I 1234 g A HIfSdfdaraa gl o

In a certain languages, TOUR is coded as 1234. How i ( 'LEAR coc
SPARE is as 90847, then how is SCULPTURE (( )DED in that language?

53602347 b. 953401347

/w\ 3601347

av 14
c. 85360245
gfd CBE &1 314 BAD © A GMBH &7 37ef 2
a. GOOD
FLAG 4

ASRBEEIE, RIS UER, AN IAR N we2 Qb &1 s A 57 Geigy 27/

b. FOOD
REQ© G

A & B are sisters, R & S are brothers. daughter of A is a sister of R, then what is the

relation of B with S?

a. Hi/ Mother b. @rdl/ Grandmother

c. §g4/ Sister 7" 3{7él/ Aunt
RS0

g7 =343 ‘_)./«);:43

c 110:500 Qb =5 715
100:121::144:?

a. 160 b. 93

d. 426

169

D' & i 3R RFE W BHEE 2/ Who is third to the left of 'D'?
A b. E
o (€

S dD55-6:2
595 a6

400 53

rcached there 3 days

I HIYT H SCULPTURE & o4 ®if2d

led as 56784 and

[f CBE means BAD then GMBH means-

1




ks (B J:ILM::JMN:?
a. PSz \/AH:
c. WZA e '
z N - 7y ST, < BT
119, afs fFrafefag el &) Yeq e 1N AT & faudia A H LRy

T G 31T

g Yl Qe

< nroementoth
‘ i de tionary arrangement, th
If the follow ing words are arranged in reverse order of dictic )

which word would come at third place?

a. Occulist b. Odium
Odious d. Ordeum
o) . . ) o S S A
120. Ufe 1 &7 apef -, + w7 a1ef -, - 7 3fef x IR x 7 34ef + B Y 1246+ 3-2x8 <
1 RPNl s ) 4 =X 6=
If + means +, + means - - means x and x means + then 12+6
a 2 4
c. 2 aby (o1

t 4 - - > o W s
[2]. UEA A orof udht Ao ux 59 TR N b [ 6 WO T BT YS I P 3R, al9.15dS HCT |
D1 g by fomm & gnfo :
Rahul put his timepiece on the table in such a way that at 6 PM (hu_ h(m.r)huml points
to North, then in which direction will the minute hand point at 9.15 PM?

a. Jd/ East b. aféur/ South
¢. IR/ North e’ U/ West
122. CAT=128, @ MAN =/ If CAT = 12, then MAN =? ‘
14 b. 24
c. 16 ) ale S
123. 1. Bound 2. Bonus 3. Bunch 4. Board 1
acsld 9.3 o 2t 2l
4213 i B
124. AROUND : RAOUND : : GROUND : ? :
(wfo')v( RGUODN b. NDOOGR
c. OUNDGR d. DNUURG

125. 40 TSfadl 1 U Ufad AR T SR Y 143 WH TR 21 910 BR A IHBT I 3T 82/ 1
Rashmi is 14th from the right end in a row of 40 girls. What is her position from the
left end?

a. 25th vb./:mh

G2 st d. None of these

(205 el e 556

1
- 735 b. 34
Er36 d. 30

27010120 ;2 1

A 401 b. 402
=0 d. 160
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128. C. A& AT DT USRI D, A BT B B, At ¢ &7 o7 7 2 D. C ¥ &Y Hdferg 2o 1
s C is a nephew of A's father. D is A's cousin, but not C's broth r. How D s

C?
a. ‘11(‘.1 Father \/""‘ Sister

related to

c. ¥i/ Mother d. ar=h Aunt(Chachi)
129. fawH a¥g &1 9d1 MY/ Find the odd Ttem. |
a. WA U8 / Mars V/T Sun
G Egsmﬂ% / Jupiter d. IR 78/ Saturn
130. Uig ST A U e ufafiar & v Ry sl @1 R AU H F1 8 (1) T7Y T J !
I M W R (i) 3H<f &7 =1 AR QR R 1(iv) FRR arf 3w qug & &g = fomm)

gated 4T faa wn faam

Five boys participated in an education competition. (i) Arsh ranked higher than
Samay. (ii) Samay ranked higher than Pratik. (iti) Arsh ranked lower than Nikhil. (v)
Kabir ranked between Arsh and Samay.Who ranked the highest?

34f8d / Nikhil b. 3=/ Arsh
C. HHY/ Samay d. $dIY/ Kabir
131. 19 &1 T8d W go arel wigen Y Ry DU g wiRdr o1 {1} an Gay B0 |

Reena said “The woman walking on the road is my father’s wife” . How is the
woman related to Reena?
a. dg9/ Sister b. =/ Aunt
7 47/ Mother d. 2V Daughter
132, ﬁnméaa%mﬁﬁwmaﬁgﬁqmﬁqwsmaﬁ &R T ITANT HIF g A |
Ol §hdl % "NATIONALISATION"/
From the given alternative words. select the word which can not be formed using the
letters of the given word: "NAT IONALISATION"

a. NOTATION b. SALINATION
/ INSTALLATION d. SANITATION
B2 9.5 9 (.3 20, 27 1
/14 b. 16
o L d. 24
134. AFHO:CHFM::GBDJ:? |
a. GBIM b. GBLD
¢. GPLD W 1DBH
135. T2 PAINT BT 63257 fer@ ST, SHIRT B 15297 a1 SIC & HAIR & 31 e wma/ 1
If PAINT is written as 63257, SHIRT is written as 15297, then how HAIR would be
written?
ar 5979 b. 1982

\// 5329 d. None

CET 2023/CLASS-VI Page 17 ¢
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- = - 1
136. Ua nfaer 3 v ds& @1 uRTd fa? ol
& gy e & ary Higw o1 F1 ! i
A woman introduced a boy & '\”.“,n' What is the 1€
h other . 7 Mother o
a. HRA/ Aunt i aqaft/ Sister-in-lé
.
. a1 Gre her P g e
¢. ardl/ Grandmothc 02 o el @ g frg oy
: S O Teh ] ST S @ISO SUHEL S 3
0 5 Fora < @1 T forere @t g afErH e £l
3 Ol |G X d

B X TTTTTT 7Y G
= - T IR HX HIHT TP GHR o5 478
. v D [T P Ry
77 3 el "™ I

na) uncle (mama) & my y,
he woman with that

.
Y nar

ni1is uncle's (1 ]
His t o oFt

(mama) arc hl'(’”)k‘lﬂ\ ol cac
1W

137. TP usl7
& FqreEiy _ P
A clock shows time 7:30 hrs. [f the minute
direction of the hour needle? b, I gd/ N )5
\)/5; ;‘;23’1\' W d. aferor-afEs/ S - W
¢/ I I< I
25 O = T 1
138. 97, U(); 7ONOD \x/2’7
a. 28
- d. 25

G 26
5o e Yoo A 3 @ I Select 2. Seldom3. Send
Rufafag veat @ 99 $1 & cgafeud 3 forgd d QeI H 3¢ 1

e o Ul e . . = = / , ge
Fuffay wsal ot 39 4 1 afed 3 ,méw@?f{ﬁ)i ‘\lrr‘:\?
n the dictionary:-1. Select

~ . . . 5y PR LR X7 o) 1
the following words in the sequence 1n W hich they occur

2. Seldom3. Send 4. Selfish 5. Seller
a. :4<1 £ 1~4
%.1.4.5.3 Qi
140. 394 3 918 &7 99 $¢/ Select the odd one out ]
a. 100 b. 194

/Jm d. 108

141. YR :¥Ufd . IY : 2/ India : President :: State #? l
a. YYTHA/ Prime Minister //3r5gurd / Governor
c. F@IA/ Chief Minister d. @R/ Mayor

T Tgad URaR J. e, e, 3 fRarzd g ok o sifdartzd gt gl ¢ 1 el A q QA B 2-2
dfeTT 3R U &7 U gl g1 IRaR | fard-t afed e &/
In a joint family, there are father, mother, 3 married sons and one unmarried
daughter. Of the sons, two have 2 daughters each and one has a son. How many

cedle shows the West, then what wi| ..

=
) LY

19 19

142.

female members are there in the family?
Al Hies
oD vd/‘;
143. afe + P13 =, x BT 3 - B, - BT 34 x 3R = BT 34 + B, A 38+19-16x17-3=7/
If +means +, x means -, - means x & ~ means +, then 38+19-16x17+3="?

a. 16 b. 19
/15' diig

ET 2023/CLASS-VI ‘Page 18 0
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144.

145.

146.

147.

148.

149.

TS HIVIST H, MNOPQ $Y ABCDE & EY H Hif
Fifed fFar a2y

In a certain lungnn\ucs\ MNOPQ is coded as ABCDF:

| SET-C |

S el e
> IPTT A ] 1 QPONM &) 3 Y91 & By |

How 1S QPo INM oded

language? 3l
. EDCBA b. BDCBA
c. CBABD d. EDBCA

Udh TSH! B 3 SR HA Y 3R I 61 U8 N O ¥ vas
! U IY e @ frg UHR Hefig 29

Abhishek pointed a girl & said: "She is the daughter of my father's only child." How

Abhighek's wife is related to that girl?
W \1\‘”\&‘1' b. 989 Sister

c. I/ Aunt d

HIA | Y R ¥ | aifirdrs

g Daughter
TFH 3T Y v o) >
(P 3HTIqH! U3 93 @ 5 ¥ QX ISR STAT 8 a1 39 & 72 foped 2 Fua N9 o s e g

A
e dd s ugh

HTAT B 1 3 g8 o AU AI9Y 34 N o fhah = H
d-t o
A man goes to the market whic}

Ry 118 5 km away from hig house & then he goes to a
air at 2 km distance.

Then he comes back to hig
cover in the entire journey?

\)Vﬁn? 7 km b. 3f&h/ 3 km
7 14158/ 14 km d. 15 15 km

(ylil'. BEV:? 1
¥ FDW ~ b. FWD

c. DFW d. WDF

house. How long distance did he

BT - UG« i . o/ Baper STree i ¥ Glass Y 1
a. Raes Window ,,b/i_{ Sand

C. U/ Stone d. <o/ Mirror
BE 49 ; | !
a. 140 . 75

c. 100 64

wwﬁfﬁﬁws%ﬁmé,mﬁaﬁmw4wm%ma€ﬁm 1
TSHR s o 70 Teheh1 1. oret g oy Fram ) o vt < 2
A person goes 5 km. towards the East & then he goes 4 km. after turning to the
right. Then he turns to the left & goes S km. In which direction is he going?
a. 3R/ North b. <&l South
\/I&/ East d. 9%/ West

,



Mathematics

Al C "Ta Cal )'{TI?
[S1. Q0 sieY oY e wt ey ol 4 o) ) e 1) e & o

st two digit nu
and the leas
The difference between the greatest two digit number

I\
\/‘/""
a. 10
C. 2 d. 99
152. 67395 7 67.395 x 7
- > . 7176.5
a. 47.1765 | 17176

c. 4717.65 A 471.765

: 13 gdtof eipt &1 ufderg
o " " a 3 . -~ HE GRS
I53. & agar80 H 9 25 o gre HIAT & 3R 15 3T F ol Bl
I1d Sy ade of pa
L % - 5 .H,_-IJ;IV_U [v;
A boy gets 25 marks out of 80 and fails by 15 marks. Find the p
marks
40% b. 30%
‘\‘\\u“ \XQ(,“H
. .
134 3 13T 3 77 7l o1 v R o oie] ) Taied W H1E ufvad "’r“} o
1gits
Wi 1¢ smallest 3-digit number which will not change on reversing the ¢
100 b. 888

Lj_ 999 \/101

R"m” h pac lud l sw apples equally into bags of 5 apples. How many baga did he

need?
a. 265 \/b./l"/()
c. 280 d. 285
156. 30+7+2 100 ST SRMHTAT ¥ 8/ The decimal form of 30 + 7 + 2/100 is
a. 3072 b 37002,
E 379 e 37.02
157. 0= 27523 BT AT M/ 0 = 27523 gives !
a. | ‘/b./b
275

d. 378 § 313 981/

None of these 1
[58. 8 ®THGis 2/ The exponent of 8 is

a.0 J/]

c.8 d. 379 9 15 981/ None of these

¥ Page 20 of 25



159. Wm?%m%?wwﬁﬁqﬁvmwﬁmm.wmu m

Find the area of Square Park. Whose |
a. 28900

perimeter is 640m?
L9y \X 25600
c. 32400

d. 8900 :
160. ﬁq&iﬁﬁ?ﬂﬁ%ﬁmﬁ%\‘/llnw many three-digit numbey |

\/«1/90() °rs are there in al|?

c. 499 d. 566
161. 37 3!6&'3‘1'@&{113(\013@zu&{zﬁunaﬁmu

Anju scored 39 arks out of ¢
a. 75%
c. 60%

162. I & W HYvit 37 1y _ ®ay
The sum of all the anglcs ofa quadrilateral s
7 360 b. 180
c. 90 i 120

163. AT 25425 0.5x2 -4/ Simplify: 2.5+ 2.5+ 5x2-4 I
a.8 i8S

c.6 d. 10.5

164. ¥Rt Aus

b. 999

3 fraar ufdurg B
0 in Maths test. What ©
b. 35%

0 15 this?

65%

Find the length of a rectangular playground in ¢m whose area is 700 sq.m and
breadth is 25 m

28

DS
G e d. 100
165. 12 R 16 1999, ¥/ The HCE of 12 and 16 is 1
a2 \/b/4
c.6 d. 1
166. 90,96 X 10 BTHHY. 3/ HCF 0£ 90, 96 and 10 is !
S b. 6
e 1D dt
167. 28 ar@ & gdadf sk Ieifiert % g @7 sl e 1
The difference between the predecessor and the successor of one million is
- , i)
c. 1,000,000 d. 1000001
168. 5 mﬁwﬁa@ﬁm%/ The greatest 5-digit number is 1
9999 b. 100000
c. 98765 d. 56789

CET 2023/CLASS-VI



I(V().

170.

172

174.

.._.
~J
n

176.

177.

. 2 T BT UAKA 10,800 ¢ | A TP BT 90

" A ST =} A TSl HTHTH [ Sl
1R IR I B8 faey 71 3T 3 =i & A 3 I
1an both exerci sed

3ifiya g 12 fa ® ST @ ‘
Eb}’]"’/

| fr faey w1g @ bR | e dry o

days and Isl

Jan every 8 days. Ajay and l‘.\’l"
together again:

Amit exercises every 12 i
i they exercise

today. How many days will it be unti
WL b. 22
c. 20 d. 20
abe @1 HE JATd FRT afd a=18,b=10,¢ 6./ Find the value of abe If a 18,b=10,c=6.
a. 1008 b. 1800
d. 1006

1080
the product: 8.680 X 12

5 | TS T PIIT: 8.680 x 12 I"imy
7 104.16

a. 104.06
c. 104.26 d. 104.36
af 10 e U F Bl 4 T A gdd e, d g am e s feaH H33 & feru fha st
04 il be required t
If 10 men can do a piece of work in 4 days, how many men Will b€ required to get
the same work done in 5 days?
7 8 b. 10
¢. 6 abelb?
RO HH B QI BIOMCI 1, 8,27, 64, coooee /

Complete the series: 1, 8, 27, 64,
b. 37

a.25
125

Sk
12345 x 15 — 2469 x 25 =/ 12345 % 15 —2469 x 25 =
a. 143350 b. 124460
c. 122420 ﬂ3450
2 Qg S 8/

The product of two numbers is 10,800. If one number is 90 what is the other

number?
a. 10890 b. 10710
c. 9,72,000 \,d,/120-

ﬁaﬁf@ﬁs{wﬁﬁaﬂﬁ@ﬁmmm D Gl
Find the missing number in the box in the following proportigns a5 12160
A1 -_ b. 4 i i

: d.2

C.

@5 8.7,5,2,0,6 AR | Y8 3P I G4 d91 O 8/

The greatest 8-digits number with given digits 5, 8,7, 5,2, 0,6, and 1 i
a. 88765210 b 89765210 - -

c. 88765521 87655210



78. Hﬁﬁ@ﬂ”lmmﬁluﬁmmlmaaﬁgﬁﬁ Iy
1 I am a prime number. If you subtrac T B S & e gy

t 1 from me, I will become divisible by 9. Who :
am I ? ;
a. 29 \,b./l")
Sy a L
179. (16+4)+4= /(l6+4)+4iscqualt0 |
a4 b.3

c.2 e

180. -36 3R 29 STTTY/ Sum of -36 and 29 is
a. -65 b. 65

Y/ d. 7
181. ﬁ@ﬂ%@aﬁwﬁﬁ%muﬁm%ﬁmmmfﬁﬁﬁmﬁmx%m%v/ 1

What is the least number which when divided by 24, 36

leaves in each case the same
remainder 8

7S b. 79
80 s R T/
182. 9&9 Lf ol Ff¥a W@ 8/ The smallest composite number is !
4 Lo 3|
c.9 d. 6

183. Eﬁqmﬁwmsﬁmwmm@x%mm%w

1
The of three consecutive odd numbers is always divisible by
3 b. 9
C-15 s
184. zogﬂﬁaﬁmmq@'X'Wﬁéﬁmn@%w%mﬁwmsoo%ﬁxaﬂm%v/ 1
The cost price of 20 books is the same as the selling price of *X’ books. If the profit
1s 25%, then the value of X is 9
g 25 bl
=16 d S
185. —(3—(2—3)+5-7) ®THA 81/ The value of: =0=@=-3) 5718 1
-2 s b3
c.4 d. -4
186. ¥4 ¥ f&a- was 81d 82/ How many faces are there in cuboid? 1

b. S
j‘(g d 8

CET 2023/C LASS-VI



187.

189.

190.

191°

192:

194.

195.

ﬁ‘ﬁﬁgmﬂ?fﬂ%’/ i siork in 49 days. How many
jece

: )
finished 1n 2

andoap

S C
36 boy b

so that the work
a. 40
c. 45

Sl S &1 T ST AET A e 5

| days?
b. 42
/ 48

If 3/4 is equivalent to x/24, then the value of  ;

Y /
uﬁm,\/m%?aﬂa?%.ﬁhaﬂm% X

: ;17 /18 :
C. 14 | )
i 200 3R 320 Y gufd: RIS
WWWG’T_OU : Aabth Hhn
ﬁma&leatect number which will exactly divide 200 ind
4% thleé)g a bisi20
?: 16 v( 40

< i R S T o 10 @ R @ HT 0
s siiix i ivisible 1S
The smallest 5-digit number that 1s div %(})’013

a. 10019
c. 10032

d. 10000

s ST SR G FY MY HA: 10, 12 R 14ay gl aﬁwaﬂgﬁlﬁaﬂﬁg}/
Aeeé of Ajay, Amit and Satish are 10, 12 and 14 years respectively. Find the average

age .
a. 10
. 11

H

d.13

4 3@ 1 g SIA T St 7 § ofa: fyursa g/
The least number of 4 digits exactly divisible by 7 is

a. 1007
c. 1,006

S Lol
d. 1009

. STI3, 16, 12, 14, 19, 12, 14, 13, 14 P AT 3/

bl19

T\\/I;(i]i}n of the data 13, 16, 12, 14, 19, 12, 14, 13, 14 is
4

cl2

dl3

T HE-3fMTS TBIT3T BT UG 117 2| dl I9F1 AT FAGTH 2/
Produgt of two co-prime numbers is 117. Then their LCM is

£ Ll
c-d3

afymmmmn%
720

c.40

b. 9
d. 39

Ry

extra boys should be enggonq
-3 O¢ E (

A5 81/ 1f 75% of a number i 15, Find the number .

b.25
d.35
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) 4

19

197. 58 3R 68 % g Wl 3oy w

mbers between 58 and 68 g l
a. 179

\/1 37 b. 178

i 183
198. amaﬁanammmmummzx

® | T ST Muay m
ﬁnn«zo%ﬂﬁ@ﬁmm%eﬁmmw 2 g |
The LCM of two numbers is 28 times of their HCF.The sum of their L.C
is 1740.1f one number is 240 then what s th sther number?

a. 460 T 420
c. 500 d. 380
A arTa quet @1 a5 8 19 areh e R/

1
The sum of three consecutive integers is 51. The middle one is
a. 14

b 15
SR £ S ol
: mmﬁmshﬂa1<wéehim4méﬁmﬁwz(;%ngmeﬁmm§?ﬁn_\, 1
The average of 4 numbers is 16 and the average of another 4 numbers is 20. Find the
average of the 8 numbers taken together.

a.l6 b.17
J.)IS d. 19

M and HCF

199,

 P:
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